xu, =2yu,  1.C:(1) ulLy)=2y+1 (2) u(11)=4

[Riley]
|.First we seek asolution of form u(x.y)=f(p)

. 1.C x=1y=1.u=4.
ulx.y)= tx*y)
u@L)=f()=4
surface %y, u)=(1,1,4)
We Let

u(x,y) =4+ G(xzy)

GM=0  G(p)=G[x*y)
G(p) =0® u(x,y)=4
G(p) =4p- 4® u(x,y)=4xy
G(p)=p-1® u(x,y)=xy+3



[J.T.Chen]
I

3—);: X . X=X€ x, =1
ﬂ:-zy y=ye t=0 I.C. u%,s)=2s+1® y, =s
dt ’ ° U, =2s+1
d—u: u=u
dt ’ °
x=¢
® y=s2? ® u(xy)=2x’y+1
u=2s+1
.
IC u@l =4 (xy.u=(11,4)

X(s) =1+a(s) X(0,9) =%, =1+a(s)

y(s) =1+b(s) at=0 ® y(0,9=y,=1+b(s)

u(s) =4+c(s) u@,s) =u, =4+c(s)

X(t,s) = (1L+a(s))e'
® y(t,9=@1+b(g)e? ® xX’y=(1+a(s))’(@1+Db(s)) = F(s)
ut,s) =4+c(s
® F(Xy)=9g(x’y) =s u(t,s) = 4+c(s)
u(t,s) =4+c(g(x*y))  c(g(x’y)) =G(x’y)
u(x, y) = 4+G(x%y) G(1)=0
G() =0 G(x*y)  Riley

1.



U(x,y)=2Cy+1




u(x,y)=4+g0cy), g0éy)=x-1




